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QUESTION 1

An administrator is planning the capture of a reference machine for two departments: Finance and Information
Technology.

Which two applications should the administrator include in the common base layer? (Choose two.)
A. Finance Accounting Application

B. Anti-Virus software

C. Admin Script Editor

D. VPN Software

Correct Answer: BD

QUESTION 2

An administrator is adding a new desktop pool for a business unit that has recently started using Virtual Desktops. A
new Organizational Unit (OU) has been created beside the original OU.

During provisioning of this new pool, the administrator receives an error message stating that creation of the computer
accounts failed. The same View Composer domain account is being used for the existing pool and the new pool. The
existing View Composer domain account is still functioning correctly for the original desktop pool.

What is causing the failure to create the computer accounts?

A. The Parent virtual machine being used for the pool has not been enabled for use in the new OU.

B. The new OU does not have the correct View-specific GPO settings applied.

C. The existing domain account is being used by the original OU and is locked for use on the new OU.

D. The new OU does not have the correct permissions applied for the View Composer domain account.

Correct Answer: D

QUESTION 3

An administrator is over committing storage in an attempt to more efficiently use the available capacity. The
administrator needs to ensure that linked-clones are evenly distributed across available datastores.

Which feature of View should the administrator use?
A. Storage DRS
B. Storage vMotion

C. Rebalance
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D. View Storage Accelerator

Correct Answer: C

QUESTION 4

While deploying a View desktop pool, an administrator determines that the virtual desktops remain at a status of
Customizing.

In the debug-timestamp.txt log file of the View Agent, the administrator finds the error message:

Debug - Unable to connect to JMS Server.com.vmware.vdi.agent.messageserver.Jmsmanager.a(SourceFile:238)
javax.jms.JMSException:Unable to create a connection to:[ServerEntry, hostname, port=4001]

What should the administrator do to troubleshoot the connection problem?

A. Verify that the View Composer Guest Agent Server service is set Started on the virtual desktops.

B. Verify that the View Agent can communicate with the View Connection Server over port 4001.

C. Verify that the View Connection Server can resolve the DNS name of the vCenter Server.

D. Verify that the View Security Server can establish a connection using the AJP13 protocol over port 4001.

Correct Answer: B

QUESTION 5

An administrator is building a new View parent image to boot the operating system (OS) from an .ISO file that is loaded
with the virtual machine\\'s CD-ROM. When the virtual machine boots, the .ISO does not load and instead, attempts a
PXE boot.

What should the administrator verify the CD-ROM is set to in order to correct this issue?

A. is set to Emulate IDE.

B. is set to Connect at Power On.

C. is set to Device Type - Client Device.

D. is set to Device Type - Host Device.

Correct Answer: B
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